



Name: _____

Solve the fraction problem and reduce the answer to simplest form:

$$\frac{41}{67} + \frac{10}{67} =$$

$$\frac{2}{19} + \frac{11}{19} =$$

$$\frac{44}{67} + \frac{6}{67} =$$

$$\frac{2}{92} + \frac{58}{92} =$$

$$\frac{3}{19} + \frac{10}{19} =$$

$$\frac{21}{81} + \frac{25}{81} =$$

$$\frac{6}{42} + \frac{3}{42} =$$

$$\frac{16}{47} + \frac{8}{47} =$$

$$\frac{64}{79} + \frac{9}{79} =$$

$$\frac{26}{41} + \frac{12}{41} =$$



Solve the fraction problem and reduce the answer to simplest form:

$$\frac{41}{67} + \frac{10}{67} = \frac{51}{67}$$

$$\frac{2}{19} + \frac{11}{19} = \frac{13}{19}$$

$$\frac{44}{67} + \frac{6}{67} = \frac{50}{67}$$

$$\frac{2}{92} + \frac{58}{92} = \frac{60}{92} \xrightarrow{\text{Reduce by 4 to Simplest Form}} \frac{15}{23}$$

$$\frac{3}{19} + \frac{10}{19} = \frac{13}{19}$$

$$\frac{21}{81} + \frac{25}{81} = \frac{46}{81}$$

$$\frac{6}{42} + \frac{3}{42} = \frac{9}{42} \xrightarrow{\text{Reduce by 3 to Simplest Form}} \frac{3}{14}$$

$$\frac{16}{47} + \frac{8}{47} = \frac{24}{47}$$

$$\frac{64}{79} + \frac{9}{79} = \frac{73}{79}$$

$$\frac{26}{41} + \frac{12}{41} = \frac{38}{41}$$